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Problema	
  1	
  (3,5	
  pontos).	
  Um	
  vaso	
  de	
  pressão	
  cilíndrico	
  de	
  comprimento	
  𝐿   =   1.000  mm,	
  diâmetro	
  𝐷   =   100  mm	
  e	
  
espessura	
  𝑡   =   10  mm	
   tem	
  suas	
  extremidades	
   fixadas	
  entre	
  duas	
  paredes	
  rígidas	
   (ver	
   figura	
  abaixo).	
  Seu	
  material	
  
tem	
  módulo	
   de	
   elasticidade	
  𝐸   =   200  GPa	
   e	
   coeficiente	
   de	
   Poisson	
   𝜈 = 0,3.	
   Antes	
   da	
  montagem	
   e	
   do	
   vaso	
   ser	
  
pressurizado	
  ele	
  é	
  instrumentado	
  com	
  uma	
  roseta	
  extensométrica	
  a	
  45°,	
  com	
  um	
  dos	
  extensômetros	
  paralelo	
  à	
  sua	
  
direção	
  axial.	
  Devido	
  a	
  uma	
  pequena	
  diferença	
  entre	
  o	
  comprimento	
  do	
  vaso	
  e	
  a	
  distância	
  entre	
  as	
  paredes,	
  assim	
  
como	
  um	
  desalinhamento	
  angular	
  na	
  posição	
  dos	
  flanges,	
  é	
  necessário	
  aplicar-­‐se	
  uma	
  força	
  axial	
  𝑁	
  e	
  um	
  torque	
  𝑇	
  
no	
   mesmo	
   para	
   que	
   ele	
   seja	
   montado,	
   dando	
   origem	
   a	
   tensões	
   normais	
   e	
   cisalhantes	
   produzidas	
   pela	
   tração	
   e	
  
torção.	
  Após	
  a	
  montagem,	
  o	
  vaso	
  é	
  pressurizado	
  a	
  uma	
  pressão	
  𝑃.	
  Neste	
  momento,	
  os	
  extensômetros	
   registram:	
  	
  
𝜖 0° = 102×10!!,	
  	
  𝜖 45° = 320×10!!	
  	
  e	
  	
  𝜖 90° = 424×10!!.	
  	
  

	
  
A	
  partir	
  da	
  leitura	
  dos	
  extensômetros,	
  determine:	
  
a) As	
  deformações	
  𝜖!!,	
  𝜖!! 	
  e	
  𝜖!" 	
  	
  (1,0	
  ponto).	
  
b) As	
  tensões  𝜎!!,	
  𝜎!! 	
  e	
  𝜎!" 	
  	
  (1,0	
  ponto).	
  
c) Os	
  valores	
  da	
  pressão	
  interna	
  𝑃,	
  torque	
  𝑇,	
  e	
  esforço	
  normal	
  𝑁	
  (1,0	
  ponto).	
  
d) A	
  diferença	
  entre	
  o	
  comprimento	
  inicial	
  do	
  vaso	
  e	
  a	
  distância	
  entre	
  as	
  paredes	
  (0,5	
  ponto).	
  

Problema	
  2	
   (3,5	
  pontos).	
  Uma	
  barra	
  de	
  aço	
  ASTM	
  A36	
  com	
  perfil	
  T	
  deve	
  ser	
  utilizada	
  na	
  montagem	
  de	
  uma	
  viga	
  
biapoiada	
  carregada	
  por	
  uma	
  força	
  concentrada	
  𝑃	
  conforme	
  esquematicamente	
  mostrado	
  na	
  figura	
  abaixo.	
  A	
  viga	
  
tem	
  comprimento	
  𝐿   =   4  m	
  e	
  o	
  máximo	
  valor	
  da	
  força	
  𝑃	
  é	
  160  N.	
  O	
  limite	
  de	
  escoamento	
  do	
  aço	
  A36	
  é	
  250	
  MPa	
  e	
  
deseja-­‐se	
  utilizar	
  um	
  coeficiente	
  de	
  segurança	
  de	
  2,5	
  no	
  projeto.	
  Determine	
  a	
  bitola	
  do	
  perfil	
  a	
  ser	
  utilizado	
  (o	
  peso	
  
da	
  viga	
  é	
  relevante	
  e	
  deve	
  ser	
  considerado	
  no	
  projeto).	
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Problema	
   3	
   (3,0	
   pontos).	
   Considere	
   a	
   barra	
   de	
   seção	
   transversal	
   circular,	
   com	
   diâmetro	
  𝐷,	
   mostrada	
   na	
   figura	
  
abaixo.	
  Na	
  sua	
  extremidade	
  atua	
  uma	
  força	
  de	
  amplitude	
  𝑃	
  na	
  direção	
  negativa	
  do	
  eixo	
  𝑧.	
  Determine	
  os	
  estados	
  de	
  
tensão	
  nos	
  pontos	
  1,	
  2	
  e	
  3	
  da	
  seção	
  𝑂,	
  onde	
  a	
  barra	
  está	
  engastada	
  (despreze	
  a	
  contribuição	
  do	
  esforço	
  cortante).	
  

 

 
 

Torção	
  de	
  Barras	
  Circulares	
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Momento	
  Polar	
  de	
  Inércia	
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Seção	
  Circular	
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Seção	
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Vaso	
  de	
  pressão	
  cilíndrico	
  (paredes	
  finas)	
  com	
  as	
  extremidades	
  livres:	
  	
  	
   tPD 2=θθσ 	
  	
  	
  	
  	
   tPDxx 4=σ 	
  
Vaso	
  de	
  pressão	
  cilíndrico	
  (paredes	
  finas)	
  com	
  as	
  extremidades	
  fixas:	
  𝜎!! = 𝑃𝐷 2𝑡,	
  𝜖!! = 0   ⇒ 𝜎!! = 𝜈𝜎!! = 𝜈𝑃𝐷 2𝑡	
  
 

Análise	
  de	
  Deformações	
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Relação	
  Deformação-­‐Tensão-­‐Temperatura	
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Em	
  tensão	
  plana	
  ( 0=ΔT )	
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